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Government and the Environment

1. (a)(i) Define the term ‘externality’.

....................................................................................................................................... [2]
(i) From the article, identify two examples of a negative externality.
....................................................................................................................................... [2]
(iii) From the article, identify two examples of a positive externality.
....................................................................................................................................... [2]
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(b) The newspaper article talks about a large increase in fuel prices (lines 4-9).

(i) Give one group who might suffer financial hardship due to a large rise in fuel prices.
Explain the reasons for your answer.

(i) Give one type of transport business that might benefit through a large increase in fuel
prices. Explain the reasons for your answer.
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(c) (i) Statetwo characteristics of ‘public goods'.

(O g = 1= Toa 1] 153 (o300 PR

(i) How far does the ‘right to roam’ (line 14) make the countryside more like a public good?

....................................................................................................................................... [5]
(d) (i) Define the term ‘subsidy’.
....................................................................................................................................... [2]
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(i) Using a diagram, explain how a government subsidy paid to the renewable energy
industry might increase the consumption of renewable energy.
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(e)* Discuss the advantages and disadvantages to the government in using taxes to improve the
quality of the environment.
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If you use the following lined page, or additional sheets, to complete an answer to any guestion, the
question number must be clearly shown.
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